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x<-c(1: 10)
y<- c(6, 12, 27, 50, 75, 108, 149, 198, 249, 303)

# FEHRTZ AT
nonline<- nls(y~at*x"bt, start=c(at=1, bt=1))

#INTA—A 3
(at<- coef(nonline)[1])

#INTA—A b
(bt<- coef(nonline)[2])

# IR = AT
sum((y-at*x"bt)"2)

#T—RERNEFALZETEE
plot(x, y, xlim=c(0, 11), main="JE#R 2 EIF D £ FT L")
curve(at*x”bt, add=T, col="red")
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%matplotlib inline

#IEMRIELUETRBRADED 2—ILDFHAIAH
from scipy.optimize import curve_fit

import matplotlib.pyplot as plt

#T—R)ADERL
array_x =range(1,11)

array y = [6, 12, 27, 50, 75, 108, 149, 198, 249, 303]

#IT X DERE
def nonlinear_fit(x,a,b):
return a * x**b
param, cov = curve_fit(nonlinear_fit, array_x, array_y)

#
list y=1[]
for num in array_x:
list_y.append( param[0] * num**param[1])
plt.plot(array_x, array_y, 'r.")
plt.plot(array_x, list_y, 'b')



Out [4]:
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[<matplotlib.lines.Line?D at 0x1d508h4eeB0>]

350

300

250

200

150

100

50




1.

Excel7 S D IEMRA A LU FENDE (X y[THIBEZ KA L-IREE TR M IELE R
[275BED)  T—RIZT4IRSEBIZIZVILIN—THDFHENRELTS

REM (TATZUEMAE) CEWLNI—FTIEHRELIAARE
BHOED A—ILEHAIADIL, PythonlZE W THIEFER T LA AT HE
WFNIZEWNTEH, ATURRERERD =0 TOLHIZERTNIETBENTHS

BV IFDEANGREZITRODEY
Ak T Ak
Excel ELERLTWSYIFO—D | ELD
TORADIBEIZEYTS57%4E | AAEHAZRFIZRZEG
RTE5 RNEFE A LUIVILAN—DHE
R EBEMNZN OV MR IENERTIOLGE I E
SA4TS)H %0 WindowshR [XETE HVELY (LinuxTlE
HETEDI)—ITRELTEHS |openblaslZkbEFRIENES) D
Python |RELERTRAMEISL EBH | O FEENERTIO G IDRE

FEGEICFEHINTLS
AnacondalZ(Z. Intel MKLAY#E
HIAFENTIE

T ERE KO BEETHNIL. RDA
MNa—KA%ELY
RELERERMLGELEMN DL




SEEH

1. ExcelJST7RFE, 58 SHEAAELORIEHDEE

https://sites.google.com/site/fishermultiplecomparison/excel-graph

2. 2)—=YIMZIEBRMO HFERXGE
http://opencae.gifu-
nct.ac.jp/pukiwiki/index.php?%C2%E8%A3%B4%A3%B3%B2%F3%CA%DI9%B6%AF%B2%F1%A1%A7H271031

3. PythonCIERFEEET IS
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